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D–3005 

B. Com. (Part I) EXAMINATION, 2020 

(New Course) 

(Group—II) 

Paper First 

BUSINESS MATHEMATICS 

Time : Three Hours ]  [ Maximum Marks : 75 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u djuk 
vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA y?kqx.kd lkj.kh ,oa 
xzkQ isij ek¡xus ij fn;s tk;saxsA 

 Attempt all the five questions. One question from each 
Unit is compulsory. All questions carry equal marks. Log 
table and graph paper will be supplied on demand.  

bdkbZ&1 

(UNIT—1) 

1- ¼v½ ;qxir lehdj.k ls vki D;k le>rs gSa \ mUgsa gy djus dh 
fof/k;ksa ds uke crkb,A muesa ls fdlh ,d dk mnkgj.k lfgr 
o.kZu dhft,A  

What do you understand by Simultaneous Equation ? 
Name the methods of solving them. Explain any one 
with example.  
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¼c½ xqfM+;k cukus okyh ,d dEiuh nks izdkj dh xqfM+;k cukrh gSA 

xqfM+;k ^v* dh xq.koŸkk xqfM+;k ^c* ls vPNh gSA nksuksa ds ykHk 

Øe’k% ` 4 ,oa ` 3 izfr xqfM+;k gaSA xqfM+;k ^v* dks cukus esa ^c* 
ls nqxquk le; yxrk gS vkSj ;fn lkjk le; xqfM+;k ^c* dks 

cuk;k tk, rks dEiuh 1000 xqfM+;k izfrfnu cuk ldrh gSA 

lkexzh dh i;kZIrrk dsoy 800 xqfM+;k izfrfnu ¼^v* vkSj ^c* 
dks la;qDr :i ls½ cukus ds fy, gSA xqfM+;k ^v* esa QSalh fDyi 

yxrh gS vkSj og ,d fnu esa ek= 400 miyC/k gSaA xqfM+;k ^c* 
ds fy, 700 cdy miyC/k gSaA vf/kdre ykHk iznku djus ds 

fy, xqfM+;k ^v* vkSj ^c* dh fdruh bdkb;ksa dk mRiknu fd;k 

tk,] bl leL;k dks js[kh; izØeu leL;k ds :i esa fyf[k,A 

A doll company makes two types of dolls. Doll ‘A’ is 

higher quality than doll ‘B’. The respective profits are 

` 4 and ` 3 per doll. Each doll ‘A’ takes twice much 

time as a doll ‘B’ and if all were dolls of type ‘B’; the 

company could make only 1000 dolls per day. The 

material is just sufficient for only 800 dolls per day 

(Both ‘A’ and ‘B’ combined). Doll ‘A’ requires fancy 

clip and only 400 per day are available. Only 700 

buckles a day are available for doll ‘B’. Formulate a 

linear programming to this problem to determine the 

number of units of ‘A’ and ‘B’ to be produced to get 

maximum profit. 

vFkok 
(Or) 

¼v½ izfrLFkkiu fof/k }kjk gy dhft, % 
 4x + y = 24 

3x – 5y = 18 
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Solve by the method of substitution : 

4x + y = 24 

3x – 5y = 18 

¼c½ js[kh; izØeu D;k gS \ bldh izeq[k fo’ks”krkvksa ij izdk’k 
Mkfy,A 
What is Linear Programming ? Explain its main 
characteristics.  

bdkbZ&2 
(UNIT—2) 

2- ¼v½ AB dk eku crkb,] ;fn % 

 

0 2 3

A 2 1 4

0 2 1

 
   
  

 

7 6 3

B 1 4 5

2 3 4

 
   
  

   

Find AB, if : 

0 2 3

A 2 1 4

0 2 1

 
   
  

 

7 6 3

B 1 4 5

2 3 4

 
   
  

   

¼c½ lkjf.kd dh ifjHkk”kk nhft, rFkk bldh fo’ks”krkvksa dks 
le>kb,A  
Give the definition of determinant and explain its main 
properties.  
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vFkok 

(Or) 

¼v½ fuEufyf[kr lkjf.kd dk eku fudkfy, % 

24 3 3

56 7 17

73 9 22

  

Evaluate the following determinant : 

24 3 3

56 7 17

73 9 22

 

¼c½ vkO;wg fdls dgrs gSa \ mnkgj.k nsdj le>kb,A  

What is Matrix ? Illustrate with an example.  

bdkbZ&3 

(UNIT—3) 

3- ¼v½ ,d f’k{kd dk ewy osru ` 7,000 izfrekg gSA og Hkfo”; fuf/k 

[kkrs esa osru dk 10% va’knku nsrk gSA  mlds fu;ksDrk dk 

10% va’knku gSA ;fn lk/kkj.k C;kt 6% okf”kZd dh nj ls 

yxk;k tkrk gS] rks o”kZ ds vUr eas Hkqxrku fd;s tkus okyk 

C;kt rFkk feJ/ku crkb,A 

The basic salary of a teacher is ` 7,000 per month. He 

contributes 10% of his salary to his Provident Fund 

Account. His employer also contributes 10% (i. e. the 

similar account) if the simple interest credited to the 

provident fund account is 6% per annum. Find the 

amount of interest after one year. Also find the amount.    
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¼c½ jk/ksyky ` 2,400, 6% okf”kZd lk/kkj.k C;kt dh nj ls m/kkj 
ysrk gS vkSj 7.5% okf”kZd pØof̀) C;kt dh nj ij fofu;ksx 
djrk gSA ;fn nks o”kZ rd ;gh fLFkfr jgs] rks crkb, mls D;k 
ykHk gqvkA  

Radhelal borrowed ` 2,400 @ 6% p.a. simple interest 
and invested this at 7.5% p.a. compound interest. If the 
transaction was for two years, what was his gain. 

vFkok 

(Or) 

¼v½ dqN jde m/kkj yh xbZ vkSj Øe’k% ` 5,400 vkSj ` 11,664 

dh nks okf”kZd fd’rksa esa Hkqxrku dh x;hA pØòf) C;kt 8% 

okf”kZd dh nj ls yxk;k x;k gSA fdruh jde m/kkj yh xbZ 
Fkh \ 

A sum of money was borrowed and paid back in two 

annual instalments of ` 5,400 and ` 11,664 
respectively. The rate of compound interest was 8% 
per annum. What sum was borrowed ? 

¼c½ ‘kks/ku dks”k ls vki D;k le>rs gSa \ ‘kks/ku dks”k ds izdkjksa dh 
O;k[;k dhft,A  

What do you understand by Sinking Fund ? Describe 
the types of Sinking Fund.  

bdkbZ&4 

(UNIT—4) 

4- ¼v½ ^v* ,oa ^c* dh vk;q dk vuqikr 7 : 9 gSA 3 o”kZ ds ckn ;g 
vuqikr 4 : 5 gks tkrk gSA budh vk;q Kkr dhft,A  

The ratio of the age of A and B is 7 : 9. After 3 years 
the ratio becomes 4 : 5. Find their age.  
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¼c½ 4 cPpksa dh vkSlr vk;q 16 o”kZ gSA ;fn mudh ekrk rFkk 

firkth dh vk;q Hkh blesa tksM+ nh tk;s] rks vkSlr vk;q 9 o”kZ 

c<+ tkrh gSA ;fn mudh ekrkth dh vk;q 40 o”kZ gks] rks 

firkth dh vk;q crkb,A  

The average age of 4 children is 16 years. If their 

mother’s and father’s age is taken into account, the 

average age increases by 9 years. Find out the father’s 

age if mother’s age is 40 years.  

vFkok 

(Or) 

¼v½ ,d pquko eas Mkys x;s erksa dk 4% jn~n gks tkrk gSA ,d 

izR;k’kh oS/k erksa dk 55% izkIr djrk gS ,oa 240 erksa ls pquko 

thrrk gSA ernkrkvksa dh dqy la[;k Kkr dhft, ¼dsoy nks 

mEehnokj gSa½  

In an election 4% of the votes cast are invalid. A 

candidate gets 55% of the total valid votes and wins the 

election by 240 votes. Find the total number of voters 

who voted. (There are only two candidates).  

¼c½ ^vuqikr* rFkk ^lekuqikr* ls D;k vk’k; gS \ budh fo’ks”krk,¡ 

fyf[k,A  

What is the meaning of ‘Ratio’ and ‘Proportion’ ? 

Write its characteristics.  
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bdkbZ&5 

(UNIT—5) 

5- ¼v½ ,d foØsrk dks dqy fcØh ij 10% deh’ku rFkk ` 5,000 ls 

vf/kd fcØh ij 6% cksul feyrk gSA ;fn mls ` 2,600 

deh’ku izkIr gqvk gks] rks mls feyus okyk cksul Kkr  

dhft,A  

A salesman receives a commission of 10% on the gross 

turnover and bonus of 6% on the sum exceeding  

` 5,000. If he gets ` 2,600 as commission, find the 

amount of bonus.  

¼c½ NwV ¼vigkj½ ls vki D;k le>rs gSa \ blds izdkj crkb,A 

What do you understand by Discount ? Discuss its 

types. 

vFkok 

(Or) 

¼v½ fdlh oLrq ds foØ; ewY; eas vUrj 6% rFkk 9% ykHk ij ` 9 

gS] rks oLrq dk Ø; ewY; Kkr dhft, rFkk lkFk esa nksuksa dk 

foØ; ewY; Hkh Kkr dhft,A  

The difference between selling price of an article at 6% 

profit and at 9% profit is ` 9. Find the cost price of the 

article and also find the selling price of both.  
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¼c½ ,d nyky izR;sd ysu&nsu ij 2.5% nykyh ysrk gSA ,d 

Hkw&[k.M ` 50,000 esa [kjhnk x;k vkSj rqjUr mlh ds }kjk 

15% ?kkVs ij csp fn;k x;kA nyky dks bl ysu&nsu ij 

fdruk /ku nykyh Lo:i izkIr gqvk \ 

A broker charges 2.5% on each transaction. A plot of 

land was bought for ` 50,000 and immediately was 

sold by him at a loss of 15%. How much did the broker 

get as a brokerage ? 
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